
21-241 Lec3 Groupwork 14 April 25, 2017

Answer the questions below. You may answer in the space provided. You may use a
separate sheet of paper if you need more space. You are to work in groups of no more than

four people. Make sure to enter the names of your groupmates below.

Name:
Section:

Group Members:

1. Let L : M2,2 7→M2,2 where

L

([
a b
c d

])
=

[
a+ b b+ c
a+ d b+ d

]
.

(a) (5 points) Find a basis of kerL.

(b) (5 points) Find a basis for L(V ).



2. (10 points) Let L : P1 7→ P2 where L(p(x)) = xp(x) + p(0). Let B = {x + 1, x − 1} and C =
{x2 + 1, x− 1, x+ 1} be bases of P1 and P2, respectively. Find [L]C←B .
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